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1. Find the octants in which the following

points lie : 

( 2 , 3 , 4)

Watch Video Solution

2. Find the octants in which the following

points lie : 

(2 , 3 , - 4)

Watch Video Solution

https://dl.doubtnut.com/l/_cARFnL1955zF
https://dl.doubtnut.com/l/_pMEi2NFKOlno
https://dl.doubtnut.com/l/_hJsCFXdT2LPv


3. Find the octants in which the following

points lie : 

(- 1 , -2 , 3)

Watch Video Solution

4. Find the octants in which the following

points lie : 

( - 3 , - 4 , - 5 )

Watch Video Solution

https://dl.doubtnut.com/l/_hJsCFXdT2LPv
https://dl.doubtnut.com/l/_gKGDKjrcwa3r
https://dl.doubtnut.com/l/_nC013fUfZ2AL


5. Find the octants in which the following

points lie : 

( - 1 , 2 , 5)

Watch Video Solution

6. Find the octants in which the following

points lie : 

( 2 , - 1 , - 3)

Watch Video Solution

https://dl.doubtnut.com/l/_nC013fUfZ2AL
https://dl.doubtnut.com/l/_L9MGglIuLqUF


7. Find the octants in which the following

points lie : 

( 1 , - 3 , 4)

Watch Video Solution

8. Find the octants in which the following

points lie : 

( - 2 , -3 , 5)

Watch Video Solution

https://dl.doubtnut.com/l/_eAd2iCGKtjPb
https://dl.doubtnut.com/l/_W0FySrKLqLBU
https://dl.doubtnut.com/l/_ZvE2236MQnAr


9. Let P (a, b , c ) be any point in space , state

the signs of a , b and c if P lies on octant 

OXY ' Z'

Watch Video Solution

10. Let P (a, b , c ) be any point in space , state

the signs of a , b and c if P lies on octant 

OX 'YZ

Watch Video Solution

https://dl.doubtnut.com/l/_ZvE2236MQnAr
https://dl.doubtnut.com/l/_FTeFneDVitdB
https://dl.doubtnut.com/l/_z4GSgclSxFgl


11. Let P (a, b , c ) be any point in space , state

the signs of a , b and c if P lies on octant 

OX ' Y' Z '

Watch Video Solution

12. Let P (a, b , c ) be any point in space , state

the signs of a , b and c if P lies on octant 

OXYZ

Watch Video Solution

https://dl.doubtnut.com/l/_z4GSgclSxFgl
https://dl.doubtnut.com/l/_hg4uc3koT4Us


13. Let P (a, b , c ) be any point in space , state

the signs of a , b and c if P lies on octant 

OX ' Y ' Z

Watch Video Solution

14. Let P (a, b , c ) be any point in space , state

the signs of a , b and c if P lies on octant 

OXY ' Z

Watch Video Solution

https://dl.doubtnut.com/l/_kV7cesd9yrWV
https://dl.doubtnut.com/l/_XNFqzDjUYavK
https://dl.doubtnut.com/l/_4oHT9NGDL7ci


15. Where do the following points lie ? 

( 0 , - 2 ,- 3)

Watch Video Solution

16. Where do the following points lie ? 

( 0 , 0 , -3)

Watch Video Solution

https://dl.doubtnut.com/l/_4oHT9NGDL7ci
https://dl.doubtnut.com/l/_jz3pq2NuOAJL


17. Where do the following points lie ? 

( 2 , 1 , 0)

Watch Video Solution

18. Where do the following points lie ? 

(2 , 0 , 0)

Watch Video Solution

https://dl.doubtnut.com/l/_zezuXfw9nLUY
https://dl.doubtnut.com/l/_5JHX2mKWlcEW


19. Where do the following points lie ? 

(3 , 0 , -4)

Watch Video Solution

20. find the distance of the point (2 , 3 , -4)

from the origin. Unsing the same digits state

the coordinates of the points having the same

distance from the origin .

Watch Video Solution

https://dl.doubtnut.com/l/_HGqT6PwGe0uq
https://dl.doubtnut.com/l/_RlBROWZzPB3Q
https://dl.doubtnut.com/l/_ugJxyeovvXeC


21. If the distance between the points ( - 1 , -3 ,

c) and ( 2 , 1 , - 2) is  unit, find c .

Watch Video Solution

5√2

22. Find the points on the z-axis which are at a

distance of  unit from the point ( 2, -3 , -2) .

Watch Video Solution

√29

https://dl.doubtnut.com/l/_ugJxyeovvXeC
https://dl.doubtnut.com/l/_mOK3sXGx7XxN


23. Show that the points (p , q , r) , (q , r , p)

and (r , p , q) are the vertices of an equilateral

triangle.

Watch Video Solution

24. Show that the points A (4 , 7 , -6) , B (2 , 5 ,

-4) and C ( 1 , 4 , -3) are collinear.

Watch Video Solution

https://dl.doubtnut.com/l/_IrR1OunDuoya
https://dl.doubtnut.com/l/_7zO1wSf1BobN


25. Find the equation to the locus of a moving

point which is always equidistant from the

points (3 , 4 , -5) and ( - 2, 1 , 4)

Watch Video Solution

26. Prove that the points (1 , -3 , 1) , (0 , 1 , 2)

and ( 2 , -1 , 3) are the vertices of a right angled

isosceles triangle.

Watch Video Solution

https://dl.doubtnut.com/l/_emAPeAABLD4P
https://dl.doubtnut.com/l/_7DRpGaJ3O6P9
https://dl.doubtnut.com/l/_AHrgcffKfas2


27. Find the perpendicular distances of the

point ( 2 ,3 , 4) from the z coordinate axes .

Watch Video Solution

28. Find the point in yz-plane which is

equidistant from the points (2 , 0 , 3) , (3 , 2 , 0)

and (1 , 0 , 2) .

Watch Video Solution

https://dl.doubtnut.com/l/_AHrgcffKfas2
https://dl.doubtnut.com/l/_x3sHhJjQNwSQ


29. Find the point on the x-axis which is

equidistant from the points (2 , -1 , 3) and ( -3 ,

2 , -4) .

Watch Video Solution

30. The sum of the distances of a moving point

from the points (5 , 0 , 0) and ( - 5 , 0 , 0) is

always 20 unit . Find the equation to the locus

of the moving point .

Watch Video Solution

https://dl.doubtnut.com/l/_Dmo3xTAntMcB
https://dl.doubtnut.com/l/_4lIOTXhFipvh


31. Find the coordinates of the point

equidistant from the four points ( 2 ,1 , 2 ) ,( -1 ,

1, 3) ,( 0 , 5 , 6) and (3 , 2 , 2) .

Watch Video Solution

32. Show that the pointsO (0 , 0, 0) ,P (a , a, 0)

Q ( a , 0 , a) and R (0 , a , a) from regular

tetrahedron .

Watch Video Solution

https://dl.doubtnut.com/l/_4lIOTXhFipvh
https://dl.doubtnut.com/l/_iktuuu3On1rt
https://dl.doubtnut.com/l/_HNhfQGbNAw6K


33. Prove that the points A(-5 , 1 , 1) , B(1 , 3 , 4) ,

C ( - 1 , 6 , 10) and D (-7 , 4, 7) taken in order are

the vertices of a rhombus .

Watch Video Solution

34. Find the coordinates of the point which

divides the line- segment joining A (2 , -1 , 3)

and B (-3 , 1 , 4) (i) internally in the ratio 2 : 3

(ii) externally in the ratio 4 : 3

Watch Video Solution

https://dl.doubtnut.com/l/_gdgx1nJpl7nm
https://dl.doubtnut.com/l/_4mM9VidOSeP1


35. Find the ratio in which the line -segment

joining the points ( 2 , 0 , -4) and ( - 4 2 , 6) is

divided by the xy - plane. . Also find the

coordinates of the point of division .

Watch Video Solution

36. Find the coordinates of the point of

trisection of the line-segment joining the

points (0,2 ,1) and (2 , -1, 5) that is nearer to (0 ,

2 , 1) .

https://dl.doubtnut.com/l/_4mM9VidOSeP1
https://dl.doubtnut.com/l/_AC3CGZsnXztW
https://dl.doubtnut.com/l/_36NB4kIHaewO


Watch Video Solution

37. Two vertces of a parallelogram are (2 , 5 , -3)

and ( 3 , 7 , -5) , it its diagonals meet at ( 4 , 3 ,

3) , find the coordinates of the other two

vertices .

Watch Video Solution

38. If (2 , -3 , 1) is the centroid of the triangle

ABC with vertices A (-3 , p , 2) , B (2 , -4 , q) and

https://dl.doubtnut.com/l/_36NB4kIHaewO
https://dl.doubtnut.com/l/_jpMJY2vvI5hP
https://dl.doubtnut.com/l/_AnwHnO9D7Dzd


C (r , 3 , 5) , find the values of p , q , r .

Watch Video Solution

39. Two vertices of triangle are (4 , 3 , -6) , (3 , -4

, 4) and the coordinates of its centroid are ( 2 ,

- 2 , 1) , find the coordinates of the third vertex

of the triangle.

Watch Video Solution

https://dl.doubtnut.com/l/_AnwHnO9D7Dzd
https://dl.doubtnut.com/l/_QModTkJLLrg6


40. Three vertices of triangle ABC are A (3 , 2 ,

-1) B ( - 1 , -1 , -1) and C ( 1, 5, 5) , if the internal

bisector of  meets the opposite side

 at D , then find the coordinates of D .

Watch Video Solution

∠BAC

¯̄̄ ¯̄¯BC

41. Find the ratio in which the line-segment

joining the points ( 2, 1 , 3) and (1 , -3 , -4) is

divided by the plane 3 x - 2y - 3z = 3 . Also find

the coordinates of the point of division.

https://dl.doubtnut.com/l/_grl1EdOwSSOt
https://dl.doubtnut.com/l/_WW8ezns7pgVI


Watch Video Solution

42. Find the image of the point 

(3 , 2 , - 4) in the xy-plane

Watch Video Solution

43. Find the image of the point 

(3 , 2 , -4) in the yz - plane

Watch Video Solution

https://dl.doubtnut.com/l/_WW8ezns7pgVI
https://dl.doubtnut.com/l/_juMrKTprCgo6
https://dl.doubtnut.com/l/_2Pn7Kjnypscn
https://dl.doubtnut.com/l/_wDLiSEJJGcUw


44. Find the image of the point 

(3 , 2 , - 4) in the zx- plane .

Watch Video Solution

45. The coordinates of the mid-points of the

sides of a triangle are ( 4 , 3, 4) , ( 1, 5 , -1) and (

0 , 4 , - 2) , find the coordinates of the vertices

of the triangle .

Watch Video Solution

https://dl.doubtnut.com/l/_wDLiSEJJGcUw
https://dl.doubtnut.com/l/_3xsmSKSH6RBz


46. A point with y-coordinate 5 lies on the line-

segment joining the points ( 1 , 4 , -3) and (4 , 7

, - 6) , find the coordinates of the point .

Watch Video Solution

47. Applying section formulae show that the

points A(4 , 7 , -6) , B ( 2, 5 , - 4) and C (1 , 4 , -3)

are collinear .

Watch Video Solution

https://dl.doubtnut.com/l/_qR5es4ypVZLm
https://dl.doubtnut.com/l/_5TGCCknCCq3J


Multiple Choice Questions

1. The equation of zx - plane is _

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

x = 0

y = 0

z = 0

https://dl.doubtnut.com/l/_8ivUO1lHzYhq


2.  represent the equation of _

A. x - axis

B. y - axis

C. z - axis

D. none of these

Answer: C

Watch Video Solution

x = 0, y = 0

https://dl.doubtnut.com/l/_tHsaSERM5xvG


3. The coordinates of any point in yz - plane

are of the form_

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

(x, 0, z)

(x, y, 0)

(0, y, z)

https://dl.doubtnut.com/l/_2e6H3IMAWvKN
https://dl.doubtnut.com/l/_avtGLAzgo5R7


4. y = b and z = c represent the equation of a

line parallel to _

A. x - axis

B. y - axis

C. z - axis

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_avtGLAzgo5R7


5. x = a represents the equation of a plane

parallel to _

A. xz - plane

B. xy-plane

C. yz-plane

D. none of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_58XfXMQ4BKsD
https://dl.doubtnut.com/l/_RYA97LNZSKsX


6. (0 , a , 0) are the coordinates of any point on

_

A. x-axis

B. y - axis

C. z - axis

D. none of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_RYA97LNZSKsX


7. The points ( 5 , 2 , 4) , ( 6 , - 1 , 2) and ( 8 , - 7 ,

k) are collinear if k=

A. 3

B. 

C. 2

D. 

Answer: D

Watch Video Solution

−3

−2

https://dl.doubtnut.com/l/_SawFR5rZ4C8K
https://dl.doubtnut.com/l/_HznpKOGimALp


8. If the distance between the points ( - 1, 1, c)

and ( 2, 1 , 1) is 3 , then the value of C is _

A. 3

B. 2

C. 1

D. 

Answer: C

Watch Video Solution

−1

https://dl.doubtnut.com/l/_HznpKOGimALp


9. The equation of xy-plane is _

A. x = 0

B. y = 0

C. z = 0

D. none of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_lR0WUxP00Q2E


10. The coordinates of any point on the line-

segment joining the points  and

 are 

, then the

value of k will be _

A. Positive integers

B. negative integers

C. real numbers

D. imaginary numbers

Answer: C

(x1, y1, z1)

(x2, y2, z2)

( , , )
x1 + kx2

k + 1

y1 + ky2

k + 1

z1 + kz2

k + 1

https://dl.doubtnut.com/l/_K2PrnfNwwCJ8


Watch Video Solution

11. The ratio in which the line-segment joining

the points ( 2 , - 3, 4) and ( 3 , 4 , - 1) is divided

by the zx-plane is _

A. 

B. 

C. 

D. 

Answer: A

3: 4

4: 3

−2: 3

1: 4

https://dl.doubtnut.com/l/_K2PrnfNwwCJ8
https://dl.doubtnut.com/l/_zbrWhGKAMaWW


Watch Video Solution

12. If the coordinates of two extremities of a

diagonal of a square are ( 4 , 4 , 7) and (0 , 6 ,

3) , then the length of a side is _

A. 3 unit

B. 4 unit

C.  unit

D.  unit

Answer: C

3√2

2√6

https://dl.doubtnut.com/l/_zbrWhGKAMaWW
https://dl.doubtnut.com/l/_C0xeShpJy8ID


Watch Video Solution

13. The equation of z-axis in three-dimensional

space is _

A. 

B. 

C. 

D. none of these

Answer: B

y = 0, z = 0

x = 0, y = 0

x = 0, z = 0

https://dl.doubtnut.com/l/_C0xeShpJy8ID
https://dl.doubtnut.com/l/_F4CcLJj1fGeM


Watch Video Solution

14. YOZ-plane divides the line-segment joining

the points ( 3 , -2 , -4) and (2 , 4 , -3) in the ratio

_

A. 

B. 

C. 

D. 

Answer: D

1: 2

−4: 3

−2: 3

−3: 2

https://dl.doubtnut.com/l/_F4CcLJj1fGeM
https://dl.doubtnut.com/l/_8lsS4r5PBveK


Watch Video Solution

15. XOY-plane divides the join of ( x , y , z ) and (

- y , - z , - x ) in the ratio_

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x : z

z : x

y : z

y : x

https://dl.doubtnut.com/l/_8lsS4r5PBveK
https://dl.doubtnut.com/l/_7MaKjULXncAd


16. The coordinates of the vertices of a triangle

are ( 4 , 6 , 0) ,( 0 , - 3 , 7) and ( - 4 , 0 , -1) , then

the coordinates of the centroid of the triangle

are _

A. 

B. 

C. 

D. none of these

Answer: A

(0, 1, 2)

( − 1, 1, 2)

(0, 2, 1)

https://dl.doubtnut.com/l/_7MaKjULXncAd
https://dl.doubtnut.com/l/_UYQgbgP7i6yx


Watch Video Solution

17. The equation of yz-plane is _

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y + z = 0

yz = 0

y = 0

x = 0

https://dl.doubtnut.com/l/_UYQgbgP7i6yx
https://dl.doubtnut.com/l/_cMIoY8f9cDf4


18. The equation of a plane parallel to xy -

plane is _

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

xy = a

x + y = a

z = c

https://dl.doubtnut.com/l/_cMIoY8f9cDf4
https://dl.doubtnut.com/l/_vFPNbutkRJMd


Very Short Answer Type Questions

1. Find the octants in which the following

points lie : 

( 3 , 4 , - 5)

Watch Video Solution

2. Find the octants in which the following

points lie : 

( - 2 , 1 , 5)

Watch Video Solution

https://dl.doubtnut.com/l/_ILTiQvNVHBik
https://dl.doubtnut.com/l/_95VUM18LYWip


3. Find the octants in which the following

points lie : 

( - 5 , - 3 , 4 )

Watch Video Solution

4. Find the octants in which the following

points lie : 

( 1 , - 3 , 2)

Watch Video Solution

https://dl.doubtnut.com/l/_95VUM18LYWip
https://dl.doubtnut.com/l/_Qa55NDC82tX8
https://dl.doubtnut.com/l/_hqtZEREAtafo


5. Find the octants in which the following

points lie : 

( 2 , 2 , 2)

Watch Video Solution

6. Find the octants in which the following

points lie : 

( - 3 , - 3 , -2)

Watch Video Solution

https://dl.doubtnut.com/l/_hqtZEREAtafo
https://dl.doubtnut.com/l/_TA8qcYOlxaWk
https://dl.doubtnut.com/l/_7e0fX87kl0tW


7. Find the octants in which the following

points lie : 

( - 2 , - 3 , 1 )

Watch Video Solution

8. Find the octants in which the following

points lie : 

( 2 , - 1 , - 2 )

Watch Video Solution

https://dl.doubtnut.com/l/_7e0fX87kl0tW
https://dl.doubtnut.com/l/_ZGAjOkvwMY9I
https://dl.doubtnut.com/l/_DarBgDRm853R


9. Find the octants in which the following

points lie : 

( - 3 , 2 , - 1 )

Watch Video Solution

10. Let P (x , y , z) be any point in three-

dimensional space, state the signs of x , y and

zif P lies on octant 

OX ' YZ '

Watch Video Solution

https://dl.doubtnut.com/l/_9NmF65vTDttL
https://dl.doubtnut.com/l/_EK2LchkOJYOD


11. Let P (x , y , z) be any point in three-

dimensional space, state the signs of x , y and

zif P lies on octant 

OX ' Y ' Z

Watch Video Solution

12. Let P (x , y , z) be any point in three-

dimensional space, state the signs of x , y and

zif P lies on octant 

OX ' YZ

https://dl.doubtnut.com/l/_EK2LchkOJYOD
https://dl.doubtnut.com/l/_2wKcKdqL414o
https://dl.doubtnut.com/l/_dqAJFNmCzNBb


Watch Video Solution

13. Let P (x , y , z) be any point in three-

dimensional space, state the signs of x , y and

z if P lies on octant 

OXYZ

Watch Video Solution

14. Let P (x , y , z) be any point in three-

dimensional space, state the signs of x , y and

https://dl.doubtnut.com/l/_dqAJFNmCzNBb
https://dl.doubtnut.com/l/_eVIkb32JhO6I
https://dl.doubtnut.com/l/_DQCE32q9yqCw


zif P lies on octant 

OXY ' Z '

Watch Video Solution

15. Let P (x , y , z) be any point in three-

dimensional space, state the signs of x , y and

z if P lies on octant 

OX ' Y ' Z '

Watch Video Solution

https://dl.doubtnut.com/l/_DQCE32q9yqCw
https://dl.doubtnut.com/l/_bW2qz9Lib2hS


16. Let P (x , y , z) be any point in three-

dimensional space, state the signs of x , y and

zif P lies on octant 

OXYZ'

Watch Video Solution

17. Let P (x , y , z) be any point in three-

dimensional space, state the signs of x , y and

zif P lies on octant 

OXY ' Z

https://dl.doubtnut.com/l/_7UbQhkzDq46H
https://dl.doubtnut.com/l/_uagM6UJhmOZl


Watch Video Solution

18. Where do the following points lie ? 

( 3 , 0 , 0)

Watch Video Solution

19. Where do the following points lie ? 

( 0 , - 2 , - 3 )

Watch Video Solution

https://dl.doubtnut.com/l/_uagM6UJhmOZl
https://dl.doubtnut.com/l/_WzoKSzUw9zbU
https://dl.doubtnut.com/l/_EMTMI8zWvJKg
https://dl.doubtnut.com/l/_C5O6MKlCDQiF


20. Where do the following points lie ? 

( 2 , 1 , 0)

Watch Video Solution

21. Where do the following points lie ? 

( 0 , - 4 , 0)

Watch Video Solution

22. Where do the following points lie ? 

( 3 , 0 , 4 )

https://dl.doubtnut.com/l/_C5O6MKlCDQiF
https://dl.doubtnut.com/l/_cGoV8EuQtBDN
https://dl.doubtnut.com/l/_V6wgekwyk7Pl


Watch Video Solution

23. Where do the following points lie ? 

( 0 , 0 , - 5)

Watch Video Solution

24. Where do the following points lie ? 

( - 4 , 0 , 0)

Watch Video Solution

https://dl.doubtnut.com/l/_V6wgekwyk7Pl
https://dl.doubtnut.com/l/_LTfsepfUp8ex
https://dl.doubtnut.com/l/_Gx3cK3ewKQtq
https://dl.doubtnut.com/l/_we9Fkky5jfK0


25. Where do the following points lie ? 

( 0 , 0 , 6)

Watch Video Solution

26. Find the distance of the point (- 6 , 2 , - 3)

from the origin. State the coordinates of the

points with same numerical values of x , y and

z-coordinates.

Watch Video Solution

https://dl.doubtnut.com/l/_we9Fkky5jfK0
https://dl.doubtnut.com/l/_NZiUkhTqvs1L
https://dl.doubtnut.com/l/_t3FXx9DlwuE7


27. Find the distance between the points 

( - 1 , 2 , 4) , ( - 1 , - 1, - 2) .

Watch Video Solution

28. Find the distance between the points 

( - 4 , 3 , 7) and ( - 1, - 2 , 3)

Watch Video Solution

29. Find the perpendicular distance of the

point ( 1 , -2 , - 3) from the coordinates axes .

https://dl.doubtnut.com/l/_t3FXx9DlwuE7
https://dl.doubtnut.com/l/_ucJX76dfwnIA
https://dl.doubtnut.com/l/_XeFcLkjD38ao


Watch Video Solution

30. Prove that the triangle formed by joining

the points 

( 2 , 3 , 4 ) , ( 3 , 4 , 2 ) , ( 4 , 2 , 3) is an

equilateral triangle.

Watch Video Solution

31. Prove that the triangle formed by joining

the points 

https://dl.doubtnut.com/l/_XeFcLkjD38ao
https://dl.doubtnut.com/l/_tJfDyPdOeNk8
https://dl.doubtnut.com/l/_DEroqTZue9km


( 2 , 3 , - 1) , ( 4 , 5 , 0) , ( 2 , 6 , 2) is and isosceles

triangle .

Watch Video Solution

32. Prove that the triangle formed by joining

the points 

( - 4 , 9 , 6) , ( 0,7,10) , ( - 1 , 6 , 6 ) is an isosceles

right angled triangle.

Watch Video Solution

https://dl.doubtnut.com/l/_DEroqTZue9km
https://dl.doubtnut.com/l/_MNNS1ncgQ8bJ


33. Prove that the triangle formed by joining

the points 

( 1 , - 3, 1) , (0 , 1 , 2) , ( 2 , - 1, 3) is a right angled

triangle.

Watch Video Solution

34. Prove that the points ( 4 , 7 , - 6) , ( 2 , 5 , -4)

and ( 1 , 4 , - 3) are collinear .

Watch Video Solution

https://dl.doubtnut.com/l/_5NIk3qQiztSr
https://dl.doubtnut.com/l/_dp5xA0JzallL
https://dl.doubtnut.com/l/_BU0vpHPaSeuR


35. Find the coordiantes of the point in the xy-

plane which is equiistant from the points A ( 0

, 0 , 1) , B ( 2 , 0 , 3) and C ( 0 , 3 , 2) .

Watch Video Solution

36. If the distance between the points ( x , - 1 ,

2) and (- 4 , 1 , 5) is 7 unit , then find the value

of x .

Watch Video Solution

https://dl.doubtnut.com/l/_BU0vpHPaSeuR
https://dl.doubtnut.com/l/_zNpb4yVxtiPw
https://dl.doubtnut.com/l/_Q7VoztM4q3ZX


37. Show that the points A ( 3 , 2 , -4) , B ( 5 , 4 ,

-6) and C ( 9 , 8 , -10) are collinear. Also find the

ratio in which C divides the line-segment  .

Watch Video Solution

¯̄̄ ¯̄¯AB

38. Find the coordinates of the points on y -

axis which are at a distance  unit from the

point ( 3 , 2 , -4) .

Watch Video Solution

√41

https://dl.doubtnut.com/l/_Q7VoztM4q3ZX
https://dl.doubtnut.com/l/_e9gPMGjuCaNV


39. Find the coordinates of the point in xy-

plane which is equidistant from the points ( 1 ,

- 2 , - 3) , ( 3 , 0 , 3) and ( 0 , - 2 , -4) .

Watch Video Solution

40. Find the coordinates of points on z-axis

which are at a distance of 7 unit from the

point ( - 3 , - 2 , 2) .

Watch Video Solution

https://dl.doubtnut.com/l/_sEMTRJUlviUI
https://dl.doubtnut.com/l/_njDbbMYI9zOR
https://dl.doubtnut.com/l/_IPTEERUFlaBR


41. Determined the equation to the locus of

the point which is equidistant from the points

( 2 , - 2 , - 4) and ( - 3 , 1 , 2) .

Watch Video Solution

42. Find the coordinates of the point which is

equidistant from the points ( 0 , 0 ,0) , ( 6 , 0

,0) , ( 0 , - 4 , 0) and ( 0 , 0 , -2) .

Watch Video Solution

https://dl.doubtnut.com/l/_IPTEERUFlaBR
https://dl.doubtnut.com/l/_WmPECcVsck3X
https://dl.doubtnut.com/l/_8EayiUcpgvPd


43. Find the equation to the locus of the point

whose distance from the point ( - 2 , -3, 2) is 6

unit .

Watch Video Solution

44. Find the perimeter of the triangle whose

vertices are ( 0 , 1 , 2) , ( 2 , 0 , 4) and ( - 4 , - 2 ,

7) .

Watch Video Solution

https://dl.doubtnut.com/l/_8EayiUcpgvPd
https://dl.doubtnut.com/l/_iuOLXNeLzkRx


45. Find the images of the point ( 3 , -4 , 6)

with respect to 

yz-plane

Watch Video Solution

46. Find the images of the point ( 3, - 4 , 6)

with respect to 

zx-plane

Watch Video Solution

https://dl.doubtnut.com/l/_cMywtQRL81Gz
https://dl.doubtnut.com/l/_w2u9DKliWHzh
https://dl.doubtnut.com/l/_AZQNzq3vAzNf


47. Find the images of the point (3, - 4 , 6) with

respect to 

xy - plane

Watch Video Solution

48. Prove that the points ( 4 , 7 , 6) , ( 2 , 3 , 2 ) ,

( - 1, -2, -1) and ( 1, 2 , 3) taken in order are the

vertices of a parallelogram . Is the the

parallelogram a rectangle?

Watch Video Solution

https://dl.doubtnut.com/l/_AZQNzq3vAzNf
https://dl.doubtnut.com/l/_NoUdTEMrgtyP


49. Three consecutive vertices of a

parallelogram are ( 1 , 2, - 4) , ( -1 , 1, 2) , ( 1 , - 2 ,

8) , find the coordinates of fourth vertex .

Watch Video Solution

50. Two vertices of the parallelogram ABCD are

A( 8 , 14 , 12) and B( 4 , 6 , 4) and its diagonals

intersect at ( 3 , 5 , 5) , find the coorinates of

vertices C and D .

Watch Video Solution

https://dl.doubtnut.com/l/_ybsd90PBLer0
https://dl.doubtnut.com/l/_0OpJPnmgW6XM


51. If  and

 be the consecutive vertices of a

parallelogram, show that

 and

.

Watch Video Solution

(x1, y1, z1), (x2, y2, z2), (x3, y3, z3)

(x4, y4, z4)

x1 + x3 = x2 + x4, y1 + y3 = y2 + y4

z1 + z3 = z2 + z4

52. Determine the coordinates of the point

which is equiistant from the points ( 0 , 0 0) , (

a , 0 ,0) and ( 0 , b , 0) and ( 0 , 0 , c) .

https://dl.doubtnut.com/l/_0OpJPnmgW6XM
https://dl.doubtnut.com/l/_oFMcQ2NElvUb
https://dl.doubtnut.com/l/_qMivWPpxQaVC


Watch Video Solution

53. Find the distance of the point ( 2 , 4 , 3)

from the x-axis and from the XOY plane .

Watch Video Solution

54. Find the equation to the locus of a point

the sum of the squares of whose distances

from the points ( 0 , - 4 , 3) and ( 0 , 4 , - 3) is

equal to 60 unit .

https://dl.doubtnut.com/l/_qMivWPpxQaVC
https://dl.doubtnut.com/l/_QQ257JRKfhEB
https://dl.doubtnut.com/l/_9Th2Ie3MENJ3


Watch Video Solution

55. Prove that the four points ( 1 , 1 , 1) , (-2 , 4 ,

1) , (-1 , 5 , 5) and ( 2 , 2, 5) are the vertices of a

square.

Watch Video Solution

56. Prove that the points ( 2 , 3, 5) , ( - 4 , 7 , - 7)

, ( - 2 , 1 , -10) and ( 4 , - 3 , 2) are the vertices of

a rectangle .

Watch Video Solution

https://dl.doubtnut.com/l/_9Th2Ie3MENJ3
https://dl.doubtnut.com/l/_w3Yf4ls6QFY5
https://dl.doubtnut.com/l/_dbGe9ipvj573


57. Show that the points ( 0 ,0,0) , ( - 2 , 0, 0) , (

0 , 2 , 0) and ( 0 , 0 , 4) lie on a sphere whose

centre is ( - 1, 1, 2).

Watch Video Solution

58. Find the coordinates of the points of

trisection of the line-segment joining the

points ( 2 , 1 , - 3) and ( 5 , - 8 , 3) that is nearer

to ( 2 , 1 , -3) .

https://dl.doubtnut.com/l/_dbGe9ipvj573
https://dl.doubtnut.com/l/_CwouW34pnzf2
https://dl.doubtnut.com/l/_Gfkog1RdvJsc


Watch Video Solution

59. Prove that the points ( - 1 , - 3, 4) , ( 1 , - 6,

10) , ( 7 , - 4 , 7 ) and ( 5 , - 1 , 1) are the vertices

of the rhombus .

Watch Video Solution

60. The coordinates of the points A , B , C and

D are ( 1 , 1 , 1) , ( -2 , 4 , 1) , ( - 1 , 5 , 5) and ( 2 , 2 ,

5) , prove that ABCD is a square .

https://dl.doubtnut.com/l/_Gfkog1RdvJsc
https://dl.doubtnut.com/l/_lHzB1KSsOVx9
https://dl.doubtnut.com/l/_Ymbc2Ec7gWua


Short Answer Type Questions

Watch Video Solution

1. Find the coordinates of the point which

divides the join of ( 2 , - 3 , 5) and ( 3 , - 2 , 4) in

the ratio 3 : 4 

internally

Watch Video Solution

https://dl.doubtnut.com/l/_Ymbc2Ec7gWua
https://dl.doubtnut.com/l/_LTzUX9Lm1MXP


2. Find the coordinates of the point which

divides the join of ( 2 , - 3 , 5) and ( 3 , - 2 , 4) in

the ratio 3 : 4 

externally

Watch Video Solution

3. The straight line joining the points ( 3 , 4 , 3)

and ( 2 , 1 , 5) intersects the plane 2 x + 2y - 2z =

1 at P , find the coordinates of P .

Watch Video Solution

https://dl.doubtnut.com/l/_zqoRWulDvO9F
https://dl.doubtnut.com/l/_UUXp4TEAQEnE


4. Find the ratios in which the line-segment

joining the points ( 4 , 3 , 2) and ( 1 , 2 , -3) is

divided by the coordinate planes .

Watch Video Solution

5. If a line is perpendicular to z-axis and makes

an angle  with y-axis then find the angle it

makes with x - axis .

Watch Video Solution

40∘

https://dl.doubtnut.com/l/_UUXp4TEAQEnE
https://dl.doubtnut.com/l/_IX0afoA71zfd
https://dl.doubtnut.com/l/_qVoU1q8sNXD0


6. The coordinates of the mid-points of the

sides of a triangle are ( 3 , - 1 , -1) , ( 1 , 3 , - 4)

and ( 0 , 1 , - 2) , find the coordinates of the

vertices .

Watch Video Solution

7. Find the ratio in which the line segment

joining A ( 2 , 4 , 5) and B ( 3 , 5 , 4) divided by

the yz - plane .

Watch Video Solution

https://dl.doubtnut.com/l/_9Sz9axGJkEoN
https://dl.doubtnut.com/l/_3hWmkAdhrXmH


8. Let A ( 2 , - 4 , - 3) and B ( - 4 , 2 , 3) be two

given points if the points C and D trisect the

line-segment  , then find the coordinates

of C and D .

Watch Video Solution

¯̄̄ ¯̄¯AB

9. Find the coordinates of the point in zx-plane

which is equidistant from the points ( - 1 , 1 , 2)

, ( 1 , - 3 , - 8) and ( - 3 , 3 , - 2) .

Watch Video Solution

https://dl.doubtnut.com/l/_3hWmkAdhrXmH
https://dl.doubtnut.com/l/_8AUllZs72C3R
https://dl.doubtnut.com/l/_th2RRdGTlM6v


10. Find the coordinates of the points on z-axis

which are at a distance  unit from the

point ( 2 , - 3 , - 1) .

Watch Video Solution

√29

11. A ( 1 , 3 , 0) , B ( 2 , 2 , 1) and C ( 5 , - 1 , 4) are

the vertices of the triangle ABC , if the bisector

of  meets its side  at D , then find

the coordinates of D .

∠BAC ¯̄̄ ¯̄¯BC

https://dl.doubtnut.com/l/_th2RRdGTlM6v
https://dl.doubtnut.com/l/_IusRQrDLk78r
https://dl.doubtnut.com/l/_QavnD7w3S71A


Watch Video Solution

12. IF the z-coordinates of a point C on the line

- segment joining the points A(2 , 2 , 1) and B (

5 , 1 , - 2) is -10 , then find the x - coordinate of

C .

Watch Video Solution

13. If A ( 1 , y , z) lies on the line through the

points b ( 3 , 2 , - 1) and c ( - 4 , 6 , 3) , then find

the values of y and z .

https://dl.doubtnut.com/l/_QavnD7w3S71A
https://dl.doubtnut.com/l/_8sygD3nBI6o1
https://dl.doubtnut.com/l/_IvoYx83PHG4u


Watch Video Solution

14. Find the coordinates of the centriod of the

triangle whose vertices are

 and .

Watch Video Solution

(a1, b1, c1), (a2, b2, c2) (a3, b3, c3)

15. Using section formula, show that the

points A (3 , 2 , -4) , b ( 5 , 4 , -6) and C ( 9 , 8 ,

https://dl.doubtnut.com/l/_IvoYx83PHG4u
https://dl.doubtnut.com/l/_YrMyKGldXLWL
https://dl.doubtnut.com/l/_yEHvFGUXaNZ9


-10) are collinear . Also find the ratio in which

the point B divides the line-segment  .

Watch Video Solution

¯̄̄ ¯̄¯AC

16. The line-segment joining the points A (1 , 2 ,

3) and b ( - 3 , 4 , -5) intersects the xy- plane at

P , find the value of .

Watch Video Solution

¯̄̄ ¯̄¯AP : ¯̄̄ ¯̄¯PB

https://dl.doubtnut.com/l/_yEHvFGUXaNZ9
https://dl.doubtnut.com/l/_3hiIvlZnDoNl


17. Prove that the xy-plane divides the line-

segment joining the points A(2 , 1 , 3) and B ( 1,

- 3, -4) in the ratio 3 : 4 at the point

Watch Video Solution

( , − , 0)
11

7

5

7

18. If ( - 4 , 7 , 5) , ( 2 , - 6 , - 3) and ( 8 , 2 , - 5) are

the coordinates of the mid-points of the sides

of a triangle, then find the coordinates of the

centroid of the triangle.

https://dl.doubtnut.com/l/_D7NRIEzUpYjn
https://dl.doubtnut.com/l/_cbyJtXJeUcNs


Watch Video Solution

19. Find the consine of the angle B of the

triangle formed by joining the points A( 6 , 11,

2) , B ( 1 , - 1, 2) and C ( 1 , 2, 6) .

Watch Video Solution

20. If the point C( x , y , -14) lies on the line-

segment  produced where the coordinates

of A and B are ( 2 , - 3 , 4) and ( 3 , 1 , -2)

respectively , then find te values of x and y .

¯̄̄ ¯̄¯AB

https://dl.doubtnut.com/l/_cbyJtXJeUcNs
https://dl.doubtnut.com/l/_IEUENaASFm5w
https://dl.doubtnut.com/l/_WF7TC7KjoZmd


Watch Video Solution

21. Prove that the plane ax + by + cz + d = 0

divides the line-segment joining the points

 and  in the ratio

Watch Video Solution

(x1, y1, z1) (x2, y2, z2)

−
ax1 + by1 + cz1 + d

ax2 + by2 + cz2 + d

22. The coordinates of the centroid of the

triangle ABC are ( 1 , 1, 1) , if the coordinates of

https://dl.doubtnut.com/l/_WF7TC7KjoZmd
https://dl.doubtnut.com/l/_yzwvPBMVgkNm
https://dl.doubtnut.com/l/_2lMLt0NFfzoM


B and C are ( 1 , 1, 2) and ( -1 , 7 , -6) respectively

, then find the coordiantes of the vertex A .

Watch Video Solution

23. The coordinates of the vertex A of the

triangle ABC are ( - 3 , -4, -2) , if the coordinates

of its centroid are ( 1 , - 2 , 2) , then find the

coordinates of the mid - point of the side 

Watch Video Solution

¯̄̄ ¯̄¯BC

https://dl.doubtnut.com/l/_2lMLt0NFfzoM
https://dl.doubtnut.com/l/_flGjx1yVY4cW


24. Using section formula show tht the points

A ( 9 , 8 , -10) , B ( 3 , 2 , -4) and C ( 5 , 4 , -6) are

collinear .

Watch Video Solution

25. The coordinates of the centroid of the

triangle formed by joining the points ( x , -1, -2)

, ( - 2 , y , 8) and ( 2 , - 4 , z) are (1 , 0 , 30 , find

the values of x , y and z .

Watch Video Solution

https://dl.doubtnut.com/l/_WfhSjvmQw2JY
https://dl.doubtnut.com/l/_xDVMWDyyiJiX


Sample Questions For Competitive Exams A M C

Q

26. Prove that the plane ax - by + cz + d = 0

divides the line-segment joining the points

 and  in the ratio

.

Watch Video Solution

A(x1, y1, z1) B(x2, y2, z2)

−
ax1 + by1 + cz1 + d

ax2 = by2 + cz2 + d

https://dl.doubtnut.com/l/_xDVMWDyyiJiX
https://dl.doubtnut.com/l/_Dx314Go1bkON


1. If OABC be a regular tetrahedron such that

then _

A. OA is perpendicular on BC

B. OB is perpendicular on CA

C. OC is perpendicular on AB

D. AB is perpendicular on BC

Answer: A::B::C

Watch Video Solution

OA2 + BC 2 = OB2 + CA2 = OC 2 + AB2

https://dl.doubtnut.com/l/_37FqLvrXXRG9


2. The ratio in which the line segment joining

the points ( 1 , - 2 , 3) and ( 4 , 2 , - 1) is divided

by the XOY plane is _

A. 

B. 

C. line segment is bisected by the plane

D. 

Answer: B::C

Watch Video Solution

1: 3

3: 1

4: 1

https://dl.doubtnut.com/l/_pmX0PfJFccgp


3. If  and C( - 1 , 11 , 9)

are coolinear then which of the following

is/are ture?

A. 

B. 

C. 

D. 

Answer: A::D

Watch Video Solution

A(2, β, 3), B(α, − 5, 1)

α = 3

β = 3

α = − 1

β = − 1

https://dl.doubtnut.com/l/_4vVNiNPSslmf


4. E is the mid point of side OB of triangle OAB

. D is a point on AB such that AD : DB = 2 : 1 . If

OD and AE intersect at P , then -

A. 

B. 

C. P intersects OD internally

D. P intersects OD externally

Answer: A::C

Watch Video Solution

OP :PD = 3: 2

OP :PD = 2: 5

https://dl.doubtnut.com/l/_oZNb0tOIzyYo


5. P divides the line segment joining the points

A(1 , 2 , 5) and B(6 , 7 , -5) in ratio 2 : 3 . If Q be

the mid point of line segment AB then the

coordinates of P and Q will be _

A. 

B. 

C. 

D. 

Answer: A::B

Watch Video Solution

(3, 4, 9)

( , , 0)
7
2

9

2

( , , 1)
7
2

9

2

(3, 4, 0)

https://dl.doubtnut.com/l/_FXf887Yr9z3v


Sample Questions For Competitive Exams B

Integer Answer Type

1. The coordinates of the vertices of a regular

tetrahedred are ( 3 , 2 , 3) , ( 0 , 3 , 4) , ( 6 , 1 , 4)

and ( 6 , 3 , 2) , the area ( sq. units ) of the

tetrahedron is _

View Text Solution

https://dl.doubtnut.com/l/_FXf887Yr9z3v
https://dl.doubtnut.com/l/_GSGt0VilB06e


2.  is the coordinate of centroid

of the triangle formed by the points

 and .

Then the value of  is

Watch Video Solution

( − 1, λ, − 3)

(3, 2, − 5), ( − 3, 8, − 5) ( − 3, 2, 1)

λ

3. The least distance of the point ( 2 soin t , 2

cos t , 3t) from the origin is _

Watch Video Solution

https://dl.doubtnut.com/l/_vzJ6blWAlR1G
https://dl.doubtnut.com/l/_ArSwZz7WnBW5
https://dl.doubtnut.com/l/_iqXqUqYtMBBt


4. If the projection of a triangle formed by the

points A( - 1 , 1, 1) , B( 1 , - 1 , -1) and C( 1 , 1 , -1)

on the xy plane then the area of projected

triangle on xy plane is _

Watch Video Solution

5. The z-coordinate of a point equidistant from

the points ( 0 , 0 ,0) , ( 2 , 0 , 0) , ( 0 , 4 , 0) and (

0 , 0, 6) is _

Watch Video Solution

https://dl.doubtnut.com/l/_iqXqUqYtMBBt
https://dl.doubtnut.com/l/_anqMCJQxcvsS


Sample Questions For Competitive Exams C

Matrix Match Type

1. The point ( 3,7,5) lies on which octant ?

Watch Video Solution

2. The point ( -2,-6,7) lies on which octant ?

Watch Video Solution

https://dl.doubtnut.com/l/_Sxlp7J187uDM
https://dl.doubtnut.com/l/_b7D2ZL6iOLqt


Sample Questions For Competitive Exams D

Comprehension Type

1. The point ( 2,3,4) lies on octant

A. OXYZ'

B. OXY'Z

C. OXYZ

D. OX'Y'Z

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_3Nm4nfqEhkag


2. The point ( - 1 , - 4 , -3) lies on octant

A. OXY'Z

B. OX'YZ

C. OX'Y'Z

D. OX'Y'Z'

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_3Nm4nfqEhkag
https://dl.doubtnut.com/l/_QYvwdvf9cCn6


3. The point ( 2 , -1,5) lies on octant

A. OXYZ'

B. OXYZ

C. OXY'Z

D. OX'YZ

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_tVsPx9WE3tTo


4. The point ( - 3 , - 4, - 5) lies on octant

A. OXYZ'

B. OX'YZ'

C. OX'YZ

D. OX'Y'Z'

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_fhwPHem0njWR

